
CARBON DIOXIDE
Height 8.2 m (26.9 ft)

Volume 556 m   (19,635 ft  )
Weight 1 tonne (1,102 tons)
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How much is 1 tonne of  

Carbon Dioxide?  

2 grand
pianos 

WEIGHT EQUIVALENTS 

Height 1.64 m (5.38 ft)
Weight 65.82 kg (0.065 tonnes; 0.072 tons)

AVG. PERSON (AFRICA) 
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Walrus Baby humpback
whale 

80 bars of
gold 

EMBODIED CARBON (A1-A3) EQUIVALENTS 

2,203 clay bricks 
(0.454 KgCO  e /brick)

Only 4.12 pallets of
bricks *

3.77 m    ready mix 
concrete 

(265KgCO   e/m  )



Only 2.4 concrete walls **
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** height 2m; length 4m; width 20cm

... emits 1 tonne of CO2 !!
* 60 bricks per pallet

C0  gas2


